Melbourne Contract Bridge Centre

Has temporarily moved to new premises
MCC Bowls Club - Hawthorn
19 Swinburne Ave Hawthorn 3122
Tel: 9853 1449   ABN No: 88 791 813 415
website www.melbournebridge.com.au
Directors:   Ian Mansell   Sandra Mansell

Newsletter for week ending 12 May 2013
Mon

Kath Mcinerney & C Lansbury
Janet Reynolds & Peter Cork**
Tue
Day
M O’Brien & Mim Blomquist
Patricia Lodge & Joan Rankin

Night
John Waldie & Karen Hill

Peter & Nicholas Anderson
Wed

John Waldie & Louise Buckle
David Hill & Stephen Costan**

Fri

Joyce Frost & Jean Buttner

Christine Kelly & Roger Kenna**
Sat

Cecile Senior & Gwenda Mealyea
Jacob Lau & Wing Law**
Hand of the week: Board 16 E-W vul Dealer W
Careful play is needed to make this contract 
After West passes North opens 1(. East overcalls in diamonds, and South raises hearts to the three level. West passes and the first question is: with only 13 HCP should North raise to game? The answer is obvious: with a doubleton and a singleton North’s hand is worth at least 16 TP therefore the raise to game is mandatory.

The second question is: with a trump stack should West double? The answer is that the double might alert Declarer to the trump stack therefore a double is unwise.

Now to the play. With shortages in diamonds and clubs a Cross-Ruff is likely to result in more tricks than attempting to draw trumps. West probably leads the A( and on seeing Dummy switches to the J(. Win the A( and then a spade to the A(, cash K( and K( and ruff a spade. Ruff a club, ruff a spade, ruff a club Play a diamond and if West ruffs, throw your losing club. And you will make your last two trumps for 10 tricks!
The next Saturday Red Point Event will be on 26th May 2013 at 1.00 pm.

The next Tuesday Red Point Event will be on 4th June 2013 at 7.30 pm.
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